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Job generator :  random robot number
if robot is not busy then
random job and send to robot

Robot : waiting for job from job generator
searching route
move to target position
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Route = array [1..Maximum node , 1..Maximum link per node]
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Search(1,5)
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pseudo code : SearchAndmove(A, B)
IF (A =B) THEN RETURN
SearchAndMove( A , all node which connect to B);
IF found solution THEN move from current position to B
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Link status = array [1..max node , 1..max node]
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pseudo code: Move from A to B
while (current position <> B)
enter critical region
IF' GetLinkStatus from A to B = ready

current position = B
exit critical region

6.2.5 Job generator
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pseudo code : Job generator
loop forever
Robot no = random robot number
if robot is ready

TARGET = random position
send TARGET to robot
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pseudo code : Robot _n
loop forever
wait for job from job generator
set status to busy
search and move
set status fo ready
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type process = (RI1,R2,R3);
var  LastExecution = process
Procedure ContextSwitch;
begin
case LastExecution of
R1: LastExecution := R2;
R2: LastExecution := R3;
R3: LastExecution := RI;
end; {case}
RobotNo := integer(R1);
case status [ RobotNo] of
ready : GenJob(RobotNo);
busy  : SearchAndMove(RobotNo,A,B);
move  : Move(RobotNo,A,B);
wait :DoNop
end; {case}
end;
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procedure Move;
begin
While CurrentPosition[RobotNo] <> To[RobotNo] do
if GetLinkStatus(From[RobotNo], To[RobotNo])=ready then

begin
SetLinkStatus(4,B, Busy);
CurrentPosition[RobotNo] := To[RobotNo];
SetLinkStatus(4,B, Ready)

end;

ContextSwitch;
end;
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Jfunction move( RobotNo,A,B ) {
while (CurrentPos[RobotNo] <> B)
if (GetLinkStatusFrom( A,B )==Ready) {
SetLinkStatus(A4,B, Busy);
CurrentPos[RobotNo] = B;
SetLinkStatus(A4,B,ready);

h

Process Robotl() {
move(RobotNo,A,B);
/

Process Robot2() {
move(RobotNo,A,B);
Y
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